Supporting Information

N-Heterocyclic Carbene Catalyzed Sulfenylation of a,f-Unsaturated Aldehydes

Yu-Ting Dong, Quan Jin, Ling Zhou,* and Jie Chen*
Key Laboratory of Synthetic and Natural Functional Molecule Chemistry of Ministry of Education,

Department of Chemistry & Materials Science, Northwest University, Xi’an 710127, P. R. China

E-mail: zhoul@nwu.edu.cn; chmchenj@nwu.edu.cn

Table of Contents

S2-S10 Experimental procedures and physical data
S11 References

S12-S35 'H and *C NMR spectra

S36 Figure S1. X-ray structure of 4

S1



General. All reactions that required anhydrous conditions were carried by standard procedures under
nitrogen atmosphere. Commercially available reagents were used as received. The solvents were
dried by distillation over the appropriate drying reagents. Infrared spectra were recorded on a
TENSOR 27 FT-IR spectrophotometer and reported in wave numbers (cm™). 'H and “C NMR
spectra were recorded on Varian (400 MHz) spectrometer. Chemical shifts (3) are reported in ppm
relative to TMS (8 0.00) for the "H NMR and to chloroform (8 77.0) for the >C NMR measurements.
High resolution mass spectra were obtained on a UltiMate 3000 spectrometer. Reactions were
followed with TLC (0.254mm silica gel 60-F plates). Visualization was accomplished with UV light.

Flash chromatography separations were performed on 200-300 mesh silica gel.

Table S1 Sulfenylation of 1a“

0}
PhS—N
4 « 0=\ S0
2 N
Ph "X conditions Ph/\S;h\o * Ph)w(%O
PhS SPh
1a 3a 4

entry  Catalyst (0.1 equiv) base additive Time 3a yield (%)b 4a yield (%)b
1 potassium phthalimide - -- 22 h 14 15
2 ‘BuOK - - 22 h 12 13
3 5a ‘BuOK BHT 36 h 78 --
4 Sa ‘BuOK  TEMPO  36h 81 --

“ Reactions were carried out with compound 1a (0.20 mmol), 2 (0.30 mmol), catalyst (0.02 mmol),
base (0.30 mmol), additive (0.02 mmol) in DMF (1.0 mL) at room temperature under Nj. b isolated

yield. BHT = butylated hydroxytoluene, TEMPO = 2,2,6,6-tetramethylpiperidinooxy.

Genera procedure for N-Heterocyclic Carbene Catalyzed Sulfenylation of a,p-Unsaturated

Aldehydes
: N
NN 2 (15 equiv). 5a (10mol%) _ R” Y o
‘BuOK (0.15 equiv), DMF, rt SPh
1 3

S2



A suspension of potassium ‘BuOK (3.4 mg, 0.03 mmol) and IMes-HCI (3, 6.9 mg, 0.02 mmol) in dry
DMF (1.0 mL) was stirred at ambient temperature for 0.5 h. N-(Phenylthio)phthalimide (2, 76.6 mg,
0.30 mmol) and aldehyde 1 (0.2 mmol) were added subsequently and the solution was stirred at room
temperature for 36 h. TLC revealed the absence of starting material, the reaction mixture was diluted
with water (5 mL) and extracted with CH,Cl, (3 x 5 mL). The organic layers were washed with brine
(10 mL), dried over anhydrous Na,SOs, filtrated and the solvent was removed under reduced
pressure. The residue was purified by flash column chromatography (petroleum ether : EtOAc = 50 :

1) to yield the corresponding product.

o
SPh
(Z)-3-Phenyl-2-(phenylthio)acrylaldehyde (3a)’
Light yellow oil, 41.3 mg, 86% yield. IR (KBr): 3058, 2825, 1693, 1444, 1116, 688 cm™.'H NMR
(400 MHz, CDCls) 8 9.55 (s, 1H), 7.98-7.96 (m, 2H), 7.88 (s, 1H), 7.46—7.43 (m, 3H), 7.29-7.15 (m,
5H). *C NMR (100 MHz, CDCl3) § 190.9, 151.1, 133.7, 133.6, 133.1, 131.3, 131.1, 129.1, 128.9,
128.6, 126.7. HRMS (ESI) calcd for C;sH;20SNa m/z [M + Na]": 263.0501; found: 263.0505.

Q,

(£)-2-((4-Chlorophenyl)thio)-3-phenylacrylaldehyde (3ab)

Light yellow oil, 44.5 mg, 81% yield. '"H NMR (400 MHz, CDCls) § 9.55 (s, 1H), 7.96 (dd, J = 8.0,
2.0 Hz, 2H), 7.88 (s, 1H), 7.45-7.47 (m, 3H), 7.21 (s, 4H). °*C NMR (100 MHz, CDCl3) & 190.5,
152.4,133.4,133.0, 132.8, 132.2, 131.4, 131.3, 130.4, 129.2, 128.7. HRMS (ESI) calcd for
Cy1H;;Cl10SNa m/z [M + Na]": 297.0111; found: 297.0120.

A )
RSN
(Z£)-3-Phenyl-2-(p-tolylthio)acrylaldehyde (3ac)

S3



Light yellow oil, 41.7 mg, 82% yield. "H NMR (400 MHz, CDCl3) 6 9.52 (s, 1H), 7.95-7.98 (m, 2H),
7.82 (s, 1H), 7.45-7.43 (m, 3H), 7.19 (d, J = 8.0 Hz, 2H), 7.06 (d, J = 8.0 Hz, 2H), 2.29 (s, 3H). °C
NMR (101 MHz, CDCls) 6 190.9, 149.9, 136.9, 133.8, 133.6, 131.3, 131.0, 130.2, 129.9, 129.6,
128.6, 21.0. HRMS (ESI) calcd for C1H;40SNa m/z [M + Na]': 277.0658; found: 277.0663.

(Z2)-3-(4-Fluorophenyl)-2-(phenylthio)acrylaldehyde (3b)

Light yellow oil, 42.4 mg, 82% yield. IR (KBr): 3058, 2858, 1693, 1504, 1234, 742 cm™. '"H NMR
(400 MHz, CDCl3) & 9.54 (s, 1H), 8.03-8.00 (m, 2H), 7.84 (s, 1H), 7.26-7.10 (m, 7H). "CNMR (100
MHz, CDCls) 6 190.8, 164.1 (d, J = 252.0 Hz), 149.6, 133.6 (d, J=12.0 Hz), 133.0 (d, J = 92.0 Hz),
129.9, 129.2, 128.9, 126.8, 115.9 (d, J = 21.0 Hz). HRMS (ESI) calcd. for C;sH,;FOSNa m/z [M +
Na]': 281.0407, found: 281.0405.

e
Cl SPh
(£)-3-(4-Chlorophenyl)-2-(phenylthio)acrylaldehyde (3c)lb
Light yellow oil, 46.7 mg, 85% yield. IR (KBr): 3062, 2824, 1693, 1456, 843 cm™."H NMR (400
MHz, CDCl3) § 9.52 (s, 1H), 7.91 (d, J = 8.5 Hz, 2H), 7.81 (s, 1H), 7.41-7.39 (m, 2H), 7.28-7.18 (m,
5H). C NMR (100 MHz, CDCl3) § 190.6, 148.8, 137.1, 133.5, 133.3, 132.5, 132.1, 129.2, 129.1,

128.9, 126.9. HRMS (ESI) calcd. for C;sH;;CIOSNa m/z [M + Na]": 297.0111, found: 297.0106.

N o
Br SPh
(£)-3-(4-Bromophenyl)-2-(phenylthio)acrylaldehyde (3d)
Light yellow oil, 55.5 mg, 87% yield. IR (KBr): 3059, 2831, 1695, 1481, 1008, 746, 536 cm™. 'H
NMR (400 MHz, CDCls) 8 9.52 (s, 1H), 7.85-7.80 (m, 3H), 7.58-7.56 (m,2H), 7.26-7.07 (m, 5H).
C NMR (100 MHz, CDCl3) § 190.6, 148.7, 133.7, 133.2, 132.6, 132.5, 131.9, 129.24, 129.18,

127.0, 125.6. HRMS (ESI) calcd. for C;sH;;BrOSNa m/z [M + Na]": 340.9606, found: 340.9595.

sS4



A e
MeOOC SPh
Methyl (£)-4-(3-oxo0-2-(phenylthio)prop-1-en-1-yl)benzoate (3e)
Light yellow solid: mp 94-96 °C, 48.3 mg, 81% yield. IR (KBr): 3058, 2825, 1720, 1693, 1504, 1231,
747 cm™. "H NMR (400 MHz, CDCl3) & 9.53 (s, 1H), 8.09 (d, J = 8.4 Hz, 2H), 7.97 (d, J = 8.4 Hz,
2H), 7.86 (s, 1H), 7.30-7.24 (m, 5H), 3.94 (s, 3H). °C NMR (100 MHz, CDCl;) & 190.4, 166.3,
147.5, 137.8, 135.4, 133.0, 131.6, 130.9, 129.64, 129.56, 129.3, 127.2, 52.4. HRMS (ESI) calcd. for

C17H1403SNa m/z [M + Na]": 321.0556, found: 321.0552.

e
OHC SPh
(£)-4-(3-Oxo0-2-(phenylthio)prop-1-en-1-yl)benzaldehyde (3f)
Light yellow oil, 45.1 mg, 84% yield. IR (KBr): 3058, 2835, 1693, 1604, 1305, 1211, 744 cm™. 'H
NMR (400 MHz, CDCls) 6 10.05 (s, 1H), 9.53 (s, 1H), 8.05 (d, J = 8.1 Hz, 2H), 7.94 (d, J = 8.1 Hz,
2H), 7.86 (s, 1H), 7.31-7.22 (m, 5H).*C NMR (100 MHz, CDCl3) & 191.4, 190.2, 146.3, 139.2,
137.0, 136.2, 132.6, 131.4, 129.7, 129.6, 129.3, 127.3. HRMS (ESI) calcd. for C;sH,0,SNa m/z [M

+Na]": 291.0450, found: 291.0446.

N Yo
MeO SPh
(Z2)-3-(4-Methoxyphenyl)-2-(phenylthio)acrylaldehyde (3g)2
Light Light yellow solid: mp 76-78 °C, 31.4 mg, 58% yield. IR (KBr): 3147, 2839, 1585, 1259, 1024,
740 cm™. "H NMR (400 MHz, CDCl3) 8 9.55 (s, 1H), 8.05-8.03 (m, 2H), 7.86 (s, 1H), 7.25 — 7.15
(m, 5H), 6.96-6.93 (m, 2H), 3.85 (s, 3H). °C NMR (100 MHz, CDCls) § 191.1, 162.2, 152.7, 134.2,
133.8, 129.7, 129.1, 128.3, 126.4, 126.3, 114.2, 55.4. HRMS (ESI) calcd. for C¢H140,SNa m/z [M +

Na]":293.0607, found: 293.0609.

S5



Cl
A Ne)

SPh
(2)-3-(3-Chlorophenyl)-2-(phenylthio)acrylaldehyde (3h)
Light Light yellow oil, 46.7 mg, 85% yield. IR (KBr): 3000, 2832, 1695, 1475, 1112, 742 em”. 'H
NMR (400 MHz, CDCI3) 6 9.51 (s, 1H), 7.95 (s, 1H), 7.84-7.73 (m, 2H), 7.41-7.34 (m, 2H), 7.31-
7.13 (m, 5H). °C NMR (100 MHz, CDCl3) 8 190.4, 147.7, 135.3, 134.7, 134.5, 133.0, 132.3, 130.72,
130.70, 129.8, 129.5, 129.2, 127.1. HRMS (ESI) calcd. for C;sH;;CIOSNa m/z [M + Na]": 297.0111,
found: 297.0120.

Br
AN \O

SPh
(£)-3-(3-Bromophenyl)-2-(phenylthio)acrylaldehyde (3i)
Light yellow oil, 56.2 mg, 88% yield. IR (KBr): 3006, 2842, 1695, 1432, 1212, 732 cm™". '"H NMR
(400 MHz, CDCl3) 6 9.51 (s, 1H), 8.08 (t, J = 1.8 Hz, 1H), 7.83 (d, J = 7.8 Hz, 1H), 7.75 (s, 1H),
7.54 (ddd, J = 8.0, 1.8, 0.9 Hz, 1H), 7.35-7.15 (m, 6H). °C NMR (100 MHz, CDCls) § 190.4, 147.5,
135.5, 134.8, 133.62, 133.59, 133.0, 130.0, 129.6, 129.5, 129.2, 127.1, 122.6. HRMS (ESI) calcd. for
Ci5H;1BrOSNa m/z [M + Na]": 340.9606, found: 340.9608.

SPh

(£)-2-(Phenylthio)-3-(m-tolyl)acrylaldehyde (3j)

Light yellow oil, 40.2 mg, 79% yield. IR (KBr): 3058, 2922, 1693, 1475, 1114, 688 cm™. "H NMR
(400 MHz, CDCl3) § 9.54 (s, 1H), 7.85-7.76 (m, 3H), 7.40 — 7.08 (m, 7H), 2.39 (s, 3H). °C NMR
(100 MHz, CDCls) 6 191.0, 151.5, 138.4, 133.9, 133.6, 132.9, 132.1, 132.0, 129.6, 129.1, 129.0,
128.6, 126.7, 21.43. HRMS (ESI) caled. for Ci¢H;OSNa m/z [M + Na]: 277.0658, found:
277.0660.

S6



(2)-3-(3,5-Difluorophenyl)-2-(phenylthio)acrylaldehyde (3k)

Light yellow oil, 50.3 mg, 91% yield. IR (KBr): 3082, 2804, 1697, 1323, 1122, 742 cm™. '"H NMR
(400 MHz, CDCl3) 6 9.48 (s, 1H), 7.70 (s, 1H), 7.48-7.45 (m, 2H), 7.29-7.25 (m, 5H), 6.90-6.86 (m,
1H). *CNMR (100 MHz, CDCl3) § 190.1, 162.7 (dd, J = 248.0, 13.0 Hz), 145.3, 136.4 (t, J = 10.0
Hz), 135.9, 132.5, 129.7, 129.3, 127.4, 113.7 (dd, J = 20.0, 7.0 Hz), 106.0 (t, J = 15.0 Hz). HRMS
(ESI) caled. for C;sH,oF,OSNa m/z [M + Na]": 299.0313, found: m/z 299.0320.

Cl
SPh
Cl

(2)-3-(3,5-Dichlorophenyl)-2-(phenylthio)acrylaldehyde (31)

Light yellow oil, 57.5 mg, 93% yield. IR (KBr): 3058, 2860, 1697, 1101, 736 cm™. "H NMR (400
MHz, CDCl3) 6 9.48 (d, J = 1.5 Hz, 1H), 7.77 (s, 2H), 7.65 (s, 1H), 7.39 (d, J = 1.7 Hz, 1H), 7.33—
7.15 (m, 5H). °C NMR (100 MHz, CDCls) & 190.1, 144.5, 136.3, 135.2, 132.3, 130.2, 130.0, 129.4,
128.9, 127.5. HRMS (ESI) calcd. for C;sH;¢Cl,OSNa m/z [M + Na]': 330.9722, found: 330.9728.

Br
SPh

Br
(2)-3-(3,5-Dibromophenyl)-2-(phenylthio)acrylaldehyde (3m)
Light yellow oil, 74.8 mg, 94% yield. IR (KBr): 3057, 2860, 1698, 1433, 1101, 744 cm™. '"H NMR
(400 MHz, CDCl) 6 9.47 (s, 1H), 7.95 (d, J = 1.6 Hz, 2H), 7.68 (t, J = 1.6 Hz, 1H), 7.62 (s, 1H),
7.32-7.13 (m, 5H). *C NMR (100 MHz, CDCl3) & 190.0, 144.2, 136.9, 136.4, 135.6, 132.3, 132.1,
130.0, 129.3, 127.5, 122.9. HRMS (ESI) calcd. for C;sH,oBr,OSNa m/z [M + Na]": 418.8711, found:
418.8715.

S7



H,CO
SPh
OCH,
(£)-3-(3,5-Dimethoxyphenyl)-2-(phenylthio)acrylaldehyde (3n)
Light yellow solid: 55-57 °C, 52.3 mg, 87% yield IR (KBr): 2945, 2837, 1691, 1155, 1058, 742 cm’.
'"H NMR (400 MHz, CDCl3) § 9.53 (s, 1H), 7.80 (s, 1H), 7.36-7.06 (m, 7H), 6.56 (t, J = 2.2 Hz, 1H),
3.80 (s, 6H). °C NMR (100 MHz, CDCl3) & 190.9, 160.6, 150.8, 135.2, 133.7, 133.4, 129.2, 129.1,
126.8, 109.1, 103.7, 55.5. HRMS (ESI) calcd. for Ci7H;603SNa m/z [M + Na]": 323.0712, found:

323.0718.
o] NN
ol SPh

(2)-3-(3,4-Dichlorophenyl)-2-(phenylthio)acrylaldehyde (30)

Light yellow solid: 72-74 °C, 53.2 mg, 86% yield. IR (KBr): 2933, 2856, 1695, 1192, 738 em”. 'H
NMR (400 MHz, CDCls) 6 9.49 (s, 1H), 8.05 (s, 1H), 7.77-7.74 (m, 1H), 7.71 (s, 1H), 7.49 (d, J =
8.4 Hz, 1H), 7.33-7.10 (m, 5H). °C NMR (100 MHz, CDCl;) & 190.2, 146.0, 135.0, 134.9, 133.5,
132.9, 132.7, 132.5, 130.5, 130.1, 129.6, 129.3, 127.3. HRMS (ESI) calcd. for C;sH;oCl,OSNa m/z
[M + Na]": 330.9722, found: 330.9723.

Br
o
SPh

(£)-3-(2-Bromophenyl)-2-(phenylthio)acrylaldehyde (3p)

Light yellow oil, 56.2 mg, 88% yield. IR (KBr): 3049, 2848, 1697, 1101, 742 cm™. "H NMR (400
MHz, CDCl3) 6 9.62 (s, 1H), 8.06 (s, 1H), 7.84 (dd, J= 7.7, 1.6 Hz, 1H), 7.63 (dd, J = 8.0, 1.6 Hz,
1H), 7.38-7.07 (m, 7H). °C NMR (100 MHz, CDCl3) & 190.3, 148.9, 136.4, 133.8, 133.0, 132.8,
131.4, 131.2, 129.5, 129.1, 127.0, 126.9, 125.1. HRMS (ESI) calcd. for C;sH;;BrOSNa m/z [M +
Na]': 340.9606, found: 340.9609.

S8



OO .

SPh
(2)-3-(Naphthalen-1-yl)-2-(phenylthio)acrylaldehyde (3q)
Light yellow solid: 86-88 °C, 45.3 mg, 78% yield. IR (KBr): 2931, 2856, 1691, 1124, 773 em”. 'H
NMR (400 MHz, CDCls) 8 9.69 (s, 1H), 8.57 (s, 1H), 8.05 (d, J = 8.4 Hz, 1H), 7.96-7.80 (m, 3H),
7.68-7.43 (m, 3H), 7.36-7.04 (m, 5H). °C NMR (100 MHz, CDCl;) § 190.4, 147.0, 136.4, 133.4,
133.3, 131.5, 130.9, 130.4, 129.7, 129.1, 128.9, 128.5, 127.1, 126.9, 126.4, 125.0, 123.6. HRMS
(ESI) caled. for C19H;40SNa m/z [M + Na]': 313.0658, found: 313.0661.

A 6]
SPh

(2)-3-(Naphthalen-2-yl)-2-(phenylthio)acrylaldehyde (3r)

Light yellow solid: 107-109 °C, 47.0 mg, 81% yield. IR (KBr): 3057, 2844, 1691, 1110, 779 em™. 'H
NMR (400 MHz, CDCl3) 6 9.60 (s, 1H), 8.40 (s, 1H), 8.15 (dd, J = 8.7, 1.7 Hz, 1H), 8.03 (s, 1H),
7.97-7.75 (m, 3H), 7.54 (m, 2H), 7.39-7.10 (m, 5H). °C NMR (100 MHz, CDCl3) & 190.9, 151.1,
134.3, 133.8, 133.0, 132.9, 132.8, 131.2,131.0, 129.1, 129.0,128.9, 128.2, 128.0, 127.7, 127.2, 126.7.
HRMS (ESI) caled. for C1oH140SNa m/z [M + Na]': 313.0658, found: 313.0656.

(£)-2-(Phenylthio)-3-(thiophen-2-yl)acrylaldehyde (3s)

Light yellow oil, 31.0 mg, 63% yield. IR (KBr): 3068, 2837, 1679, 1579, 1411, 1109, 740 cm™. 'H
NMR (400 MHz, CDCly) & 9.59 (s, 1H), 8.15 (s, 1H), 7.66-7.62 (m, 2H), 7.30-7.16 (m, 6H). °C
NMR (100 MHz, CDCls) 6 190.2, 146.0, 137.7, 137.0, 134.5, 133.8, 129.2, 128.9, 128.5, 127.4,
126.7. HRMS (ESI) calcd. for C3H;0OS;Na m/z [M + Na]": 269.0065, found: 269.0067.

(£)-2-(Phenylthio)-3-(thiophen-3-yl)acrylaldehyde (3t)

S9



Light yellow oil, 44.8 mg, 91% yield. IR (KBr): 3089, 2825, 1687, 1477, 1112, 740 cm™. '"H NMR
(400 MHz, CDCly) & 9.55 (s, 1H), 8.20 (d, J = 1.9 Hz, 1H), 7.91 (s, 1H), 7.81 (d, J = 4 Hz, 1H),
7.45-7.09 (m, 6H). *C NMR (100 MHz, CDCL3) & 190.9, 145.4, 135.9, 133.8, 132.9, 130.9, 129.4,
129.1, 128.6, 126.6, 126.2. HRMS (ESI) calcd. for Ci3H;00S;Na m/z [M + Na]': 269.0065, found:
269.0066.

X N0
SPh SPh
(£)-2,4-Bis(phenylthio)hex-2-enal (3u)

Light yellow oil, 26.4 mg, 42% vield. IR (KBr): 3197, 2966, 2823, 1699, 1477, 1070, 720 cm™. 'H
NMR (400 MHz, CDCl;) & 9.35 (s, 1H), 7.46-7.44 (m, 2H), 7.26-7.22 (m, 3H), 7.17-7.13 (m, 3H),
6.98 (d, J = 10.4 Hz, 1H), 6.93-6.90 (m, 2H), 4.57-4.51 (m, 1H), 2.03-1.83 (m, 1H), 1.83 — 1.65 (m,
1H), 1.05 (t, J = 7.4 Hz, 3H). °C NMR (100 MHz, CDCL3) 5 189.4, 157.3, 136.1, 133.8, 133.6, 132.5,
129.1, 128.97, 128.89, 128.1, 126.5, 49.9, 27.1, 11.9. HRMS (ESI) calcd. for C;sH;sOS;Na m/z [M +
Na]': 337.0691, found: 337.0695.

07 N S0
Ph ~o0
PhS SPh

3-(1,3-Dioxoisoindolin-2-yl)-3-phenyl-2,2-bis(phenylthio)propanal (4)

White solid: 73-75 °C. "H NMR (400 MHz, CDCls) § 9.76 (s, 1H), 7.77-7.74 (m, 2H), 7.69-7.67 (m,
2H), 7.61-7.59 (m, 2H), 7.52 (d, J = 7.3 Hz, 2H), 7.47 (d, J = 7.3 Hz, 2H), 7.41-7.17 (m, 9H), 5.81 (s,
1H). *C NMR (100 MHz, CDCl3) 5184.9, 167.5, 137.1, 134.6, 134.3, 134.2, 131.3, 130.2, 130.11,
130.06, 129.0, 128.9, 128.81, 128.77, 1284, 123.5, 75.9, 58.0. HRMS (ESI) caled. for
Ca9H2NO3S,Na m/z [M + Na]: 518.0855, found: 518.0860.

S10



References:

(1) (a) He, L.; Guo, H.; Li, Y. Z.; Du, G. F.; Dai, B. Chem. Commun., 2014, 50, 3719. (b)
Silveiral,C.; Perinl, G.; Braga,A.; Dabdoub,M.; Jacob , R. Tetrahedron, 1999, 55, 7421. (c)
Vlattas.; Isidoros. J. Am. Chem. Soc.,1976, 98, 2008.

(2) (a) Yoshimatsu, M,; Hatanaka, F. Chem. & Pharm. Bull., 2004, 52, 248. (b) Yoshimatsu, M,;
Hatanaka, F. Phosphorus, Sulfur and Silicon and the Related Elements, 2005, 180, 1007.

S11



0000-—

TR
ziVL
Ve
6111
5811
06}L1
¥61'L
12z
SeT L
9¢2 1
We L
Ve 1
€62 /1
8672
092 1
G9Z /1
6921
082/
982/
062 L1
ST I
ZeV 11
LEV L
WL
8¥yL
8c¥',
88/
856'2
196'2
0.6'2
1162
z86'L

6Y56—

SPh

3a

[-ogy
=87

9610
R 861

F o

0.0

0.5

1.5 1.0

2.0

6.5

7.0

95 90 85 80 75

10.0

889'0CL
¥29'8C1
cle'8Ch
celLeeh
LELLE PV
8celel
£€90°¢eh
929°¢CL
869°¢Cl
MLLSL—

98061 —

~0
SPh

3a

-10

190 180 170 160 150 140 130 120 110 100 S 8 70 60 50 40 30 20 10
f1 (ppm)
S12

200



0000-—

L0C'L
6GC'L
0sv'L
ysy'L
eor'L
891'.L
648/~
6L
cs6'.L
196°L
G96°'L

GGG'6—

3ab

BT
=08
0o
0z

F oo

0.0 -0.5

1.0 05

1.5

30 25 20

4.0 35

f1 (ppm)

5.0 45

70 65 6.0 5.5

85 80 75

9.5 9.0

10.5

899
oo.RW
ceLL

cL8eh
€¢6Cl
9g'0cl
velel
8elgl
ve et
12°2Cel
0oect
er'eet

6€°CS1—

€5°061—

Cl

[M

3ab

-10

o
=)
=
o
o
o
o
=)
S
=3
w)
=)
°
o
54
=)
=]
[ N
&
o
b
=
S&
=
o
—
=
o
Q
=
o
o
-
=)
=+
=
1=
vy
b
1=
°©
-
o
4
—
o
=]
=
=
&
=

200



0000-—

98¢'C¢—

0S0°L
002
¥8L'L
y0C'L
sl
Sev'.L
el
LSY'L
8L
vS6'L
0962
G96'L
6962
8.6'L

9156~

3ac

Eh0e

M 96’1
0z
hgg
a0l
807

ool

-0.5

0.0

1.0 0.5

1:5

2.0

70 65 60 55 50 45 40 35 30 25

1.5

8.0

9.5 9.0 85

10.5

f1 (ppm)

10°1e—

899/
00°LL
celL

65°8C1
SG'6C1
16'6C1
S6°0¢l
og’lEl
€9°¢CL
sLeel
c6'9¢)

68611 —

16°061—

3ac

-10

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

f1 (ppm)

S14



000—

012
€1
G121
LV
LV
81/
6121
02 29
0T L1
mN.DW
AR
9z2’
TCIAN
66'L
10'8
108
€0'8

yS6—

SPh

3b

|

Fais

»00')
Rgg)

F-oo1

-0.5

0.0

1.0 0.5

1.5

3.0 25 20

50 45 40 35

f1 (ppm)

70 6.5 6.0 5.5

9.0 85 80 75

9.5

10.5

899/
00°LL
celL

625k,
0884t
a.wﬁ/
0Z'621
syeel
LG€El
S9'eel

09'6¥1—

Y8291~
9¢'891L~

92061 —

SPh

3b

o
—
o
(o}
o
o
o
<
=3
w)
=
©°
o
~
o
©
o
=Y
(=]
0)
—

s wn
—
—
o
a
—
o
o
—
o
<
—
=3
vy
—
o
o
1
o
=
—
o
2]
—
o
=
—

110 200



0000-—

16G°1—

08l2
mwi
161 21
Y0z L1
Wz
622 L1
AR
6YZ LA
1ST'1
vz L
8171 ]
82;
Bn&
pIvL

g2
Smg
ze6'L

€256~

S —

SPh

Cl

3c

—

f-005
™81t
960
502

oo

-0.5

0.0

1.0 05

1.5

2.0

5.5

80 75 7.0 6.5 6.0

8.5

9.0

9.5

10.5

89'9L
00°.L
ceLL

26'9C)
£6'8C1
L'6ZL
(444
90°CeL
ov'Te FV
9zeet
[AsR%N
0lL’€l
88yl —

85061 —

SPh

Cl

3c

sl

-10

30 20 10

40

200 190 180 170 160 150 140 130 120 110 100 90 80 70 60
f1 (ppm)
S16

210



0000-—

951 —

5617
z0zL
G0Z L
0122+
L\T LA
mnm.tf
6€Z L]
6sz L
09Z'2
192 17
856/
0852
¥6. L
www.g
1481
z256—

—

i

SPh
3d

Br

j-e0e

ooy

-0.5

0.0

1.0 05

1.5

55 50 45 40 35 30 25 20
f1 (ppm)

80 75 70 65 6.0

9.0 85

9.5

10.5

€9'GCL
16'9C)
81'6¢l
vZecl
c6lEL
6v¢cl
65l
ceeel
LLeglh
vL8vrl—

85061 —

SPh

Br

3d

-—

-10

o
(=]
=
(=]
o~
o
o
o
-+
(=3
w)
(=3
=}
o
14
(=3
(=]
%)
~

o b
=) =
o
=
-
o
o1
=
[=]
o
=
o
S
-
(=3
w)
—
o
O
-
(=]
~
—
o
o0
-
(=]
()}
i
(=3
(=}
o

L0



0000-—

0€9'L—

8E6'¢—

orz'L
0922
612 L7
€872
00€'2
1581~
€967
v86'.
oNme
960°'8

ceS6—

SPh

MeOOC

3e

F60°E

Frzs

80
207
;m:N

F oot

-0.5

0.0

10 0.5

1.5

40 35 3.0 25 20

70 65 6.0 55 50 4.5

9.0 85 80 75

9.5

10.5

f1 (ppm)

SE'CS—

899/
00°2LL
ceLL

91/l
9z'6¢l
9561
v9'6Cl
06'6¢Cl
88°0¢
LG1ELNE
mm.NnPM
vy'ael
SL/EL
6V Lyl —

82'991—

6€°061—

SPh

MeOOC

3e

-10

o
o
=4
(=]
[}
(=3
o
(=]
<
(=]
w)
o
A=}
(=]
=
(=3
(=]
(=]
o N
W o
i
o (%]
=1 =)
o
-
o
(=3
(o]
-
o
o
-
(=]
<+
=
o
w)
=
=3
O
et
(=]
| o
-
(=3
(=]
-
(=3
(=)}
-

200



0000-—

0ez'L
S€Z'L
ove'L
£5T'L
56C'L
2TL
€62 L
0Le’L
0982+
Sy
ov6'L
0’8
290'8

1E€G6—

1S00L—

SPh

OHC

3f

Fegy

m oK
- 16l
;::N

0.0 -0.5

1.0 05

15

30 25 20

70 65 6.0 55 50 45 40 35

8.0 75

9.0 85

9.5

10.5

002

ww.onv
ceLL

f1 (ppm)

ve'LCl
[ANTA4%
c9'6CL
€L6Cl s
8¢'IEL
§9°CEL
61°9¢)
L0°LEL
Lg6elt
6291

12061~
L 6L

SPh

OHC

3f

-10

o
o
9
o
o
o
o
(=]
-
o
w)
o
O
o
~
o
o0
o
N
77N
mm 2
pocd wv
=
o
=
=
o
o
8
o
o
2
o
-
g
(=]
w)
2
o
O
3
o
~
2
o
o0
2
o
(o)}
8

210 200



0000-—

SYo'L—

2548

5691
LV
861/
€911
891/
S0Z'L1
012 L]
12241
52T L1
Ve L
SV L
ST L7
292 L
L9217
1881~
0208,
2508

MS6—

SPh

MeO

===

39

Fure

F80z

b gig

001
Fa0z

ooy

-0.5

0.0

1.0 0.5

L55:

25 20

3.0

4.0 35

50 45
f1 (ppm)

5.5

80 7.5 7.0 65 6.0

9.0 85

9:5

10.5

WeG—

899/
00°2L
(AW

oLyl —
62°9CI
6€°9CI
92’81~
90'6C)

€62l
18°¢Cl
cTvel
69°CSL—

02e9l—

vL'L6L—

SPh

MeO

39

)

-10

190 180 170 160 150 140 130 120 110 100 9 8 70 60 50 40 30 20 10
f1 (ppm)
S20

200



0000-—

€09'L—

0812,
8811
961/
Y0T L
1022
€1T'21
LVT L
GET' L
SST'L
VLT L]
L6221
L6211
L2
192
1€ L}
G8e' st
68€°2
82%
meﬁ
60%'2
¥9.°
mt.g
£6LL |
0S6'2
Z156—

Cl

SPh

3h

805
LAY
vil?
660

F ooy

-0.5

0.0

1.0 05

1.5

30 25 20

3.5

4.0

4.5
f1 (ppm)

55 5.0

6.0

90 85 80 75 7.0 6.5

9.5

10.5

89'9L
00°2L
ceLL

80'/2)
€261
6621
862l
0,08}
zLog)
LO'SELNE
PG YEL
E.S%
62GEl
L9'IpL—

vy06l—

Cl

SPh

3h

-10

o
o
—
o
a
o
)
=
<
o
w)
=]
©°
o
[
o
@
o
s
—
I
g %)
S&
=)
—
—
o
]
—
o
o
—
=
-+
-
o
w)
—
o
©°
—
o
~
-
o
@
—
o
=)
—
o
S
o



0000-—

01Z'L
€€T L1
VAZAR
Z8z L1
Y52 11
Y9z,
892/
AT
€821
68Z'L]
¥62 11
P1E L
8251
1€5 /1
€€G°/
GEG LA
8¥5'L-
18G4
€66/
G652
vl
Gz8'/-
Sva/]
808

1056

T T —

Br:

SPh

3i

Tmm.m_
8Z!
mmm.ﬁ_
201
Mg

oo

T

-0.5

20 1.5 1.0 0.5 0.0

25

3.0

3.5

899/
00°.L
(AW

4.0

0 45
(ppmy

“E 16T
60°/¢l
(4414
cg6el
19621
1001
86CE FW

5.5

6.0

6G€CL
coeel
6.1¢E1
YS6el
(A WA

7.0 6.5

75

8.0

8.5

9.0

9.5

0061 —

10.5

Br:

SPh

3i

-10

o
o
—
(=]
ol
(=3
el
(=2
<
(=3
w)
(=3
=
o
~
(=3
=]
%)
~N
o
m (%]
S&
o
—
—
(=]
o~
—
(=3
o
—
o
-+
—
o
)
—
(=3
=
—
o
~
—
(=3
0
—
(=3
(=]
—

200



0000—

88€C—

19V
€81
181/
02z .1
€T
VT 11
952 2
$9T L
282 L]
98z’ 2
8@2
12817

e
65
€8/'2
2081

rhrr—

8€56—

SPh

3j

_

|

Fize

Feat

Free

ool

-0.5

0.0

1.0 0.5

155

6.0 55 50 45 40 B35 30 25 20
f1 (ppm)

70 6.5

7.5

8.0

5

10.5

VAN T/

899/
00°.LL
(AW

v9'9ZL
158zl
0062}
60621
00ZEL
20ze L
Z6ZELT
wm.nm&
£geel
zesel
v IGL—

6061 —

SPh

3j

-10

<)

=)

—

o

o

o

o

o

-+

o

vy

o

©

o

=

=)

)

%)
™
o~

o %

2=

=)

—

-

o

o

-

o

o

-

o

-+

-

o

I3

=

o

©

-

o

4

-

=)

=)

=i

=)

=

-

200



0000-—

29891
8891
£88'91
00691
ZIT L
Nwwﬁ
0€Z 2

L€T A
N AN
AN |
8sz'2’
€LT L]
z8z L

8«.&
Lov L]
£8y'L]
169°/
par6—

SPh

3k

601

A
sz
o

E o0

T

-0.5

0.0

1.0 0.5

3.0 25 20 15

3.5

4.0

wv)

899/
002
celL

<3 060}

<
it =]

5.5

75 7.0 6.5 6.0

8.0

95 90 85

10.5

G6'S0L
0Z'901
0S€LL
8g€ll
0L€LL
92"
ye6Zl \
11621
IYTEL
98'sel
L'9gL
8zGhL/

8¢9l
LG 19L
98'¢€91
66'€9l

Y1061 —

SPh

N v

|

3k

|

I

-10

o
o
—
(=}
o~
(=3
lagl
o
-
(=3
)
(=3
o
f=}
—
(=3
00
(=4
to
/W M

[=3
S (%]
Al =]
(=]
—
—
(=3
ol
—
(=3
o
—
(=2
<
—
o
vy
—
(=3
o
—
o
—~
—
(=3
=]
—
(=3
(=)
—

10 200



000'0-—

L85 —

veeL
e L
8¢C'L
SvCL
8GC'.L
(AT
SlTL
98¢,
06¢'L
y6e'L
619,
VLLL

18¥'6—

Cl

SPh

Cl

3l

Foo

1.0 05 0.0 -05

25 2.0 15

3.0

45 40 35

5.0

60 55
f1 (ppm)

7.0 6.5

90 85 80 75

9.5

899/
00°2L
ceLL

wv.mwv
mw.wNPW
ge'6cl
86'6¢C|
0cocl \
yezel
SLGeEL
1€9€1 \
0S¥l

G0'061—

Cl

SPh

Cl

3

-10

(=]
(=1
—
o
(o}
(=3
22
=3
-
(=3
vy
(=3
A=}
o
~
(=3
=]
o
@ n
3

(=3
S&
—
(=1
—
—
o
™~
—
o
(22}
—
(=3
<
—
(=1
v
—
=3
il
—
(=3
-~
—
(=3
00
—
(=3
N
—

200



0000-—

109} —

91T L
61T L
0ZzL
€T L
SZTL
0€Z' /1
LET L
SYT L1
16T 2
mom.tﬁ
QNQ

6.C°L
[AsTAVA
6192
/9L
8/9'L
€891
6L
816,
Liv6—

Br

SPh

Br

3m

-=

-0.5

1.0 0.5 0.0

I3y

25 20

85 80 75 70 65 60 55 50 45 4.0 35 3.0

9.0

9.5

10.5

f1 (ppm)

c6ect
hv.mwp/
ce6el
10°0€1
cleel T
62Tl
jelegeitd
8e'9¢cl
G8'9¢l \
[4A44

16681 —

Br

SPh

Br

3m

-10

o

o

—

=

I

o

o

=

=+

=3

w)

1=

o

o

[

=

o0

0)

L ©
~

& %)

o=

=

=)

=

—

=)

o~

2

o

o

=

=

-

=

o

w)

Yt

=)

°

=

o

=

-

o

=]

=

o

&

=

200



0000-—

Y65 L —

66L€—

£55°9
6559
&8 7
A
8vzL
2921
997 L
89z L
VIT1
vzl
161

8256—

SPh
OCH,

HsCO

3n

Fgg

001
Fegt

401

kool

0.0 -1.0

1.0

3.0

4.0

“E
v,
&=

10.0 9.0 8.0 7.0 6.0

11.0

LY'SS—

899/
00°2L
(AW

69°¢0)—
1601 —

wﬁom—
wo.mNFW
91'6¢C}
Lyeet 7
99°¢cl
€C'sel
08'0G)—

c9'091L—

98061 —

H3;CO

SPh

OCH,

3n

-10

o
o
—
o
a
(=3
(32}
(=)
<
(=2
“
(=3
o
o
=
(=3
(=]
(=3
(=)
s
o ~
(=2 o
- (%]
=
(=2
—
—
o
ol
—
o
2]
—
(=3
b=
—
o
2
]
(=3
=
—
[=d
~
—
(=3
00
—
(=3
(<))
—
[=3
o
(o}

210



@
re
000'0-— == B
L
o
LS
L9
o
et
L <
o
L gows
Lo 0L
ze1L 3
L M\) &
o .
802 .- I iw 9z /TL
2L "= 0E6Zl 3
i) Fe 1G62L
V2T L o B00EL .
622 /1 T o CS0¢El
042 21 . 8reel
192 2 S 89cel |
1921 68'CE1
ﬁw.mﬁ 3 R lpeslt
8Ly Ly = Mot 18¥El
661'L i - Rgip 2 LOSEl
80L L o haoz | B6SPL
LvLL 7. L o
zsLlL o - 4 <
89/, s %
€LLL / o 7
1508 & L 2 °
650’8 s «
Y6Y'6— — Lo &
o © . ¢zo6l— 5 5
F o

-10

30 20 10

40

80 70 60

190 180 170 160 150 140 130 120 110 100 90
f1 (ppm)
S28

200




0000-—

009'L—

G912
891°/1
viLL
1811
981,
902"/
01Z’L
022 L1
STT 1
1ST1
Ve 1
65C°L
80€'/1
1€
92¢'/1
625 L1
GPE LY
8y L §
029'27
22911
6£9°LY[
g IR |
828/
ze8.]
tﬁ
1S8'L |
2908

6196—

Br

SPh

3p

F ot
/980
v 10l
Fon

001

T

-0.5

0.0

1.0 0.5

1.5

2.0

30 25

“
o

&
<
el
<t
o
vy

wv)

80 7.5 7.0 65 6.0

9.0 8.5

9.5

10.5

899/
00°LL
ceLL

w 1431

= G69Z)
¥0°221L
0L'62L
16621
zTIEL
riclL
18ZELf
18ZELE
662EL
9/°¢cl
1E°9E1L
¥6°871L —

82061 —

Br

SPh

3p

-10

o
(=3
—
o
A
o
)
o
-+
o
)
(=3
=
o
=
[=3
0
O
(=)
(<]
a

(=3
S&
—
o
—
—
o
(=]
—
o
[32)
—
o
<
—
o
vy
—
(=3
=
—
o
=
—
(=3
0
—
(=4
(=)
—

200



0000-—

§erh,
YL/
€L,
LIV
1811
6612
202 11
122 1]
0€Z'/
VT 1]
0SZ'L
86’/
L1SL
965 /1
€151
951
685 /1
5092
609'/1
ov8L
8581
€89/
18841
968,
S06'L
LI6'L
eYO8~

6958—

6896—

]

=

F ool

-0.5

0.0

1.0 0.5

25 20 1.5

3.0

4.0 35

0 45
f1 (ppm)

5.

70 65 6.0 5.5

85 80 7.5

9.0

9.5

10.5

00°LL

ofctt

S61ZL
€e'9zL
¥8'9zL
9022}
vzl
z6'92L
0062}
296211
Ge0gl
18081

ww.ohv

3

[44%%
LWoEL—

G691 —

6€°06)—

X \O
SPh

3q

-10

190 180 170 160 150 140 130 120 110 100 90 80 70
f1 (ppm)

200

S30



0000

687}
18121
8111
18111
zee 1
STT'L
8¢z’
W L
8vT 11
6T 11
65C'L
08 L1
LEL
zze 1
5ze L
L1G 2]
025 L1
9¢5°L
v
15521
196/
928/

Y¥8'.1
G98'2
988’/
906'Z
1208~
618
epL'8
1918
591’8
cor'8

9656

=0
SPh

b us
ﬁmmN

80¢
M I
o

Sif!

F ooy

0.0 -0.5

1.0 0.5

+g Lozl
o8 112
Yo 89'2L

70 65 6.0 5.5

S

8.0

9.5 90 85

10.5

899
00°LL
el

L0'8zL
vZ'8ZL

€0'624

SL'6ZH
1Z'1EL W
£8TEIE
G8zel Nw

yo'ect
£8'¢cl
vevel
142515

16061 —

=0

X

SPh

3r

-10

180 170 160 150 140 130 120 110 100 9 8 70 60 50 40 30 20 10
f1 (ppm)
S31

190

210 200



0000-—

Y09'L—

651'L;
6912
VLV L]
9LL'L]
181°L]
8l L]
881/
161 L]
612'L
5€T L1
6€C'L
25T L]
15T L1
9/T1
8.T 11
162L1
962 'L
00€'Z1
9192
¥29'L
529'L
8v9'L
099'Z
vSl'8—

G856 —

XYy N0

SPh

3s

AL

T:mum

Fooz

imm.a

25 20 15 1.0 05 0.0 -0.5

85 80 75 70 65 60 55 50 45 40 35 3.9
f1 (ppm)

9.0

9.5

10.5

899/
002
(AN

€9'9C1
ov'Lcl
6¥'8¢Cl
18'8¢1
€1'6Cl
7R % N
v YeEL
10°Z€EL
L0°ZEL
vLiEL
VYL L€
66'Svl

91°061—

XN \\()

SPh

3s

-10

30 20 10

40

180 170 160 150 140 130 120 110 100 90 80 70 60
f1 (ppm)
$32

190

10 200



0000-—

809'L—

0LL L
LIV L
181 L]
8121
612
12g L]
92z L
967 L1
1T L]
87 /1
19Z'L1
2iT L]
81T L1
€87 /11
Non.tﬁ
08+
En&
£8e/
208'L
c08'Z
I8,
818,
G162
1618
10C'8
6156

ool

0.0

0.5

1.5 1.0

2.0

4.0 3.5 3.0

4.5

5.0
f1 (ppm)

5.5

6.0

6.5

7.0

1.5

9.0 85 8.0

9.5

10.5

8991
00°LL
celL

A
95921
85821
v1'621
ov'6z)
6801
68ZEL~
81°€E &
L6'SEL
0¥ Sl —

98061 —

-10

30 20 10

40

190 180 170 160 150 140 130 120 110 100 90 80 70 60
f1 (ppm)
S33

200



0000-1
¥€0" 11
€50'}1
L20'L
109"}
8LL L
YEL L
€6/° 1
TLL
€681
60611
1261+ ﬁ
V6’ |
8051
€25
6251
YEG 11
2 R
6Y5 P
GGG
0451
868'9
206'91
:mo;
G169
226'91
£96'9
68691
ZeV 'L
LEV LT
VA
0S}'Z1
861/
A WA ]
LT 1
6z L
622 2]
6€Z°2]
8T L
A
8sz'/
€92/
€T 11
887/ 1
LV 1
R
oy /1
LSV
09¥'L]
£5€'6

e

—

=0

SPh SPh

3u

Fzze

ol
80l

F o

M 18
N
66
e
JE_.N

F ooy

1.0 0.5 00 -0.5

155

2.0

3.0 25

80 75 70 65 60 5.5

9.0 8.5

95

10.5

€611~

big—

98'6v—

899/
00°2L
celLL

[AsperA
v1'8¢l
68'8¢Cl
,6'8¢Cl
ol'6cl F
ceTel
65°¢Cl
LLEEL
v19¢L

8261~

£V'68l—

SPh SPh

3u

11

-10

o
(o}
o
A
(=4
-
o
“
o
=]
(=]
=
[=3
=]
o
(=3
S <
o
(%]
(=3
S&
—
o
—_
—
[=3
Q
—
o
A
—
o
<
—
o
“
—
(=3
O
—
(=4
=
—
(=3
%]
—_
(=3
N
—
(=3
o
[}



0000-—

€089
N.&L
90€ /1
¥2€ L1
L€ L
8¢/
85 L~
91v 14
0152
825/
9652
889'/ 1
8@.&
brLL]
A}

—

8G.6—

Ph

PhS SPh

F860

06
5811

e
602
0z
92t

F ooy

30 25 20 15 1.0 05 0.0 -05

3.5

4.0

0 45

5

5.5

90 85 80 7.5 7.0 65 6.0

9.5

10.5

Y085 —

€6'GL
wo.ouW
00°LL \

el

& €5zl
vy 8zl
L1°82L
18'8Z1
68'821 1
00621+
900}
LLOEL
0z 0l
L1e1el
A
ee Vel
YO VEL

I ——

r

[

L0°L€)

yS 91—

88'¥8l —

PhS SPh

-10

190 180 170 160 150 140 130 120 110 100 90 80 70 60
f1 (ppm)
S35

200



Figure S1. X-ray structure of 4

S36



